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END TERM EXAMINATION

~ FIrRsT SEMESTER [BBA] FEBRUARY 2023

Time: 3 Hours

Paper Code: BEA101 Subject: Hanngsmnﬁt Process and

BBA[B&:I}101 Organizational Behaviour
@H TCH- «lod] &ymmﬁ

Maximum Marks: 75

Note: .e‘lttemp_-t nnj ﬁ:.:_e qu_c_sﬂuﬂ.s. All -quesﬂnns carry equal marks.

Q1

Q2

Q3

Q4

Q6

Q7

What is management? Give an overview of classical management
theones.

Explain how planning involves making decisions today that will have an
impact later. Assume you have been put in charge of creating a program
to control paper waste for a company; as a part of sustainability
measures. Set goals and develop plans. What controlling measures would

you take?

What are attitudes? Describe its components. Discuss job related
attitudes.

What is the difference between leadership and management? Describe
any two types of leadership styles. Suggest in which situations, they are
most relevant.

What is extrinsic and intrinsic motivation? As a manager, how would you
use this understanding.

What is the difference between organizational culture and climate? How
CAn a4 manager create a positive organizational culture?

Write a short note on any one of the following:

a) Power tactics
b) Values and organizational behaviour
c) Business process reengineering
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A salesman hag the following record of sales durng three months
lar three jlems A, B and O which have different rotes af
oommission.

B TR e )

_ _ A | B I_ - | .___n__.ﬂ-n._lﬂnﬂlll:

L : wn (in Raj
jocismey [ 90 ! W01 20 | ST O

| Febewary | i30 | s | 4o B0 |
L_March | 80 | j00 | 30 B50 i
Find oul the rates of commission on jtems A, B and C, 5}

Q3 The otal cost function of & firm {8C(x) = <2 + 36T — Tx 4 16, where x is
the autput, Dotermine: i12.3)

Q5

i

1i)
bit]|
L

a)

b

The Average Cost
The Marginal Averape Cost and Marginal Cost
Fnﬂnﬁuhnr::ﬂu_.znswwiuﬂaﬂﬂﬁh

Show that the Marginal average cost = e

Evaluate the Eollorsiryg: ]
1
R
i e+ x) log{xe ™) ds
HI = 8 T
2 la-Traty
L T 13.5)

If p times the pth term of an AP is equnl to q times the qth term of
1he AP, show that the (p*qlth term is 2ern, 4]
Find the number of numbers cas than 1000 and diviaible by 5,
which can be formed with the digits 0, 1, 2, 3, 4, 5, 6. T. 8 and 9,
no digit being repeated in any numbar. [4)
In & mulinatdenal firm, 4 posts fall vacant and 35 candidntes
apply for the pesta. In How many ways, can the selection be made,
i 4.5)
i] i particular candidite is always excludedp

ii] i particular candidate |8 always included?

P.T.0.
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Q6

Q8

-3

A mukltiproduct firm produces two commodities X and X3 whoss
prices per woit are 12 and 18 respectively, Assuming te firm’s cost
function ns:

Com Iud + rywy + 2xd

Obtain the oplimum levels of its products which maximize profit.
i12.5)

) Find the consumer's surplus and producers” surplus under pure
competition for demand function x = %r m and supply functon
P= 5+, Ernﬂﬂrﬁ.ﬁnﬁmhlﬁﬁuﬁmﬂ. &)

bi The marginal cost and marginal revenue functions of a product
Are given by MC =304 - and MR = 30. The fixed cost ks 200.
Determine the maximum profit and the profit. maximizing level

output. [4.5]

a) }nﬁﬂiﬁbuﬂrhnﬂnwm?mﬁnﬁ?ﬂlﬁgnﬂﬁunﬂﬂ_ﬂdnmmﬂi
less sets. The charge fs reduced on. ety set by Ha. 75 per set for
each set ordered in excess of 50. Find the largest size order the
company should allow to receive & mudmum revenye, 5)

b }nEnnEE#ﬁFﬂHf_ﬁirq_H:nE_Eﬁﬁdﬁﬂunﬂ
E:gnf.miwgﬂ_iuﬁ.ﬁﬂnﬂdwﬁﬁﬁn?.m
Eu!ﬁnﬁﬂqﬂﬂinnaﬁﬂgﬂngﬂm? 10 for a
Dioma, m-...uqﬁﬂiqﬁrmﬁcunn?n..ﬂu-ﬁ.wu&:—n:ﬁhvﬂ.
Tﬂmﬁﬁﬂn&.ﬁnﬂ.ﬂm?m?nnﬂi_ﬁimﬂgﬂtnﬁi
F.unﬁninﬂr.hgﬂﬂnﬂEﬂqﬁﬁF 12 for m
Dioam, E.m?ggwﬁmw?ﬁﬁagiuﬁquﬁnr?a
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Q5.

. 124
Adjustment

= [8) Inventory was vidued on March 31, 2022 at Rs _u_u__n___u_m.f

(b] Depreciate Plant and Machinery by 15% and Furniture By 10%.

(el Frovide for interest om Capital at 10% and interest on Drawing at 6%.

(gl Provide for following outstanding expensts. Wages  FEs 10,000,
Salartes  Rs 7000, Ceneral Expenses  Fs 5 000

[z} Insurance was prepaid to the extend of Bs 3,000

i A sum of Rs 2000 was earned by the way of discount but not ver
recedved and hence ot inctuded in accounts.

A sum of Bs 3000 represents rent received in advance but not yet
dus.

fhiA provision of 2% is required on debtor towards bad and doubtful
debis,

(i} A provision of 50% towards taxation on profits (before tasation | is
requined

Pass the folivwing journal entries: (13.5)

{a] Salaries paid Rsl10,000 after deduction Ksl 000 as income tnx, R
1,500 a8 employee's share of provident fund but before emplayer's
share of provident fund Rsl, 500,

(bl Goods worth Raf0,000 are insured against loss by floods. The palicy
is for Rs50,000. Actual loss caused by flood is Rs36,000, The
insurance compary admits the clalm and pays the cash
proportionatedy.

fe} O1d machine of the book value of Red0,000 i exchanged for & new
maching of Esl 20,000, The old machine s vahied at Fa25,000 for
cxchange purpose by machine tools 1ud,

{d} Parchased 100 shares of LM Itd @ BEs75 per share{Face value Rs100
per share); brokerage paid 53,

l=) Paid salarics 1o stall Bs 6 000 and recovered from travelling salesman
Eel 300 for goods supplied to him afer deducting his travelling
cxpenses of Rs 50,

Explain the oeed ond significance of depreciation? What fuctors showld

be considered for determining the amount of depreciation? (12.5)
Standord cotton mills lid issued 50,000 shares of Bs 10 sach at the
MO (12.5)

Discount permitted by the companies act, payable as follows:

COn application Ba 2 per shares

Cn allotment Rs 3 per shares

On first call Ra 1.50 per share

O final eall the balance amount

Application was received for 75,000 shares, The director made PIO-TALA
allotment to applicant for 60,000 shares. Mr Boj kumar did oot pay the

ablotment money on 100 shares while Ms kavita did not pay final call on
G shares. Pass the journal entries.

P.T.0O.

T - T
el

3]

Q7. Mr. X Purchased second hand machinery on 1% Pebruacy, 2009 for Rs

50,00 Paid Bs 11,000 for iis overhouling and Ra 5,000 for its installation
which was Completed by 31 Maorch, 2008, The company provides
depreciation on its Machinery at 15% on diminishing balance method
from the date i wae put 6 use and closes s books on 31% Dec every
yvear, On 9 October, 2010, a repair work was carried out on the Machine
and Ra 5,000 were padd for the same. The machine was sold on
J1"0ctober 2011 for o sum of Rs 11,000 and amount of Rs 1,000 was
paid as dismantling charge. Prepare machinery Eﬂupguanﬂ.ﬂ
2011, 1

. Pass journal entrics: {12.5)

(af Tssues of Rs 50,000, 13% debeniure ar par.

(b Issues of Re 50,000, 13% debenture at a discownt of 5 %, redeemahble
ai par.

(e} Iaswes of Rs 50,000, 13% debenture at par redeemalbie ay 109
premiwm,

id] [ssues of Rs 50,000, 13% debenture ot n premiom of 5 %, redeemable
At par.

{e} Issues of Re 50,000, 13% debenture at a discount of 5 %, redeemable
at 5%

rErERdrerrrrTreTe
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END TERM EXAMINATION

FirsT SEMESTER [BBA|] FEBRUARY 2023

Paper Code: BBA-107 Subject: Business Economics |
| BBA(B&I}-107
=5 BBA{CAM)-107

_Time: 3 Hours  Maximum Marks: 75

Note: dtta-ﬁipl:ﬁw questions in all including Q. No.1 which is
compulsory. All guestions ecarry equal marks. el

Q1  Explain briefly any five from the following:-
{a] Cross elasticity of Demand
(b} Sweezy Kinked Demand Curve model
{c) Distinguish between Private cost &Social cost
(d) Opportunity Cost
&) Law of Equi marginal utility
(fi Law of returns to scale
(g Marginalism& Incrementalism
{h}) Production Function

Q@2  What are the characteristics of Monopolistic competition? Compare the
characteristics of monopolistic competition with those of perfect

competition.

Q3 (a) What is meant by Envelope curve (LAC)? Explain Graphically.
(b) What are the steps involved in Demand Forecasting?

Q@4  Explain Demand Schedule, Demand curve and Demand function. Derive
a demand curve from the demand function: Q= 50 - 10P.

Q5  (a) What is meant by the term “equilibrium” in Economics?
(b) Explain consumer’s Equilibrium by using the Cardinal Utility
Approach.

Q6 What is price discrimination? How price is determined under it? Is price
discrimination useful to society?

Q7  Profit maximization remains the most important objective of business
firmsinspite of multiplicity of alternative business objectives. Comment.

@8 A monopoly firm can earn super normal profits but will never suffer
losses? Comment and substantiate vyour views using suitable

illustrations.
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END TERM EXAMINATION

FIRST SEMESTER [BBA] FEBRUARY 2023

BBA [B&I}-111

BBA ([CAM)-109 St |

Time: 3 Hours

Ha.;i'mﬂm Marks: 75

Exam Roll No. ......lvussetorsseres

Subject:-IT Applications in B‘urinm—‘

| Note: Attempt five questions in all including Q.No. 1.which is compulsory. |

Q1.

Q2.

Q3.

Q4.

Q3.

Q7.

Q8.

Answer any five of the following questions, briefly:- (5x5=25)

(a)What are the characteristics of Computer? Explain them.

(b)What are the different types of input devices? Explain them,.

(c)Explain the differences between the software and firmware.

(djWhat are the advantages of database approach over file system?

lain

[g]ﬁiqa]t is a Compiler? How is it different from that of Interpreter?
Explain.

(fWhat do you mean by Presentation Software? Explain with suitable
example.

(giWhat is intranet? How is it different from that of extranet? Explain
with suitable example.

(a) What do you mean by the classification of Computers? Explain them

with suitable example. (6)
(b)What are the different types of storage devices? Briefly compare and
contrast them. (6.5)
(a) What is an Operating System? What are its primary functions?
Explain them. (6)
(b)What are the different types of Computer Programming Languages?
Briefly explain them. (6.5)
{a)What are the various Sort and Filter Tools in MS-Excel? Explain with
suitable example. (6)
(b)What is Pivot Table? How to analyze data with Pivot Table? Explain
with suitable example. (6.5)
What is a Network Architecture? Briefly explain the functions of all the
seven layers of SO - O8I Reference Model. (12.5)
(a) What are the different types of transmission media? (&)
(b) What are the different types of network topologies? Explain them
briefly. (6.5)

(a) What do you mean by Internet Services? Explain with suitable

example. (6)
[bjList and explain any two applications of IT in day to day business.|6.5)

Write short notes on the following:- [6+6.5=12.5)
(a) Electronic Spreadsheets
(b) Cloud Computing

i i i i ok oo ol ol el
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{Please write your Exam Roll No.) Exam Roll Mo, ...ccovanmnrinass

END TERM EXAMINATION

_SECOND SeMEsTER [BBA] JuLy 2023

Paper Code: BBA-102 Subject: Cost Accounting |
= __BBAB&J-102 L S
Time: 3 Hours Maximum Marks: 75

Note: dtttTn,E_ﬁ.n_ Jfive questions.
s i £

Q1 Answer any five from the following:- (3x5=15)
(a) Perpetual inventory system
(b) Taylor's Different Piece Rate System
(c] Idle time and its causes.
(d) Cost Centre
(e) Sunk cost
(f) Material losses
(g) Absorption and allocation of overheads

Q2 ‘Limitation of financial accounting have made the management realize

the importance of cost accounting.” Comment, (15)
Q3 The PET Chemicals supplies you the following details from its cost
records:- (15)
| Stock of raw material on lst September 2022 Rs. 85,000
Stock of raw material on 30th September 2022 Rs.81,500
Direct wages Rs. 52,500
Indirect wages Rs. 2,750
| Sales Rs. 2,00,000
| WIP on st September, 2021 Rs. 28,000
WIP on 30th September, 2021 Es. 35,000
Purchase of raw materials Rs. 66,000
Factory rent, rates and taxes Rs. 15,000
Depreciation of plant and machinery Rs. 3,500
Expenses on purchase Rs. 1,500
| Carriage outward REs. 1,000
| Advertising Rs. 5,000
Office rent and taxes Rs. 2,500
Travellers wage and commission Rs. 6,500
Stock of finished goods on 1st September 2022 Rs. 54,000
| Stock of finished goods on 30th September 2022 Rs. 31,000
"lf'.} > Prepare the cost sheet giving the maximum possible break up of cost and
/%/6 profit
E-D Q4 (a) A company uses 2,500 units of material per month. The cost of o
> placing the order is Rs. 150, The cost per unit is Rs. 20. The reorder P
period is 4 to 8 weeks. The minimum consumption of raw material is o

100 units whereas the average consumption is 275 units. The &
carryving cost of inventory is 20% per annum. You are required to

calculate: (7.5)
(i} Re-order quantity -~ \S©O
(i) Re-order level. Py _dy A
o 3, -
ok ! L@_ w’a"“d 1:: Hﬁﬂ PlTIﬂi I".I"";--t"'
PR e T € Tiédk . s B S :
2 PG ? o L
e L I.',''J":I.-"""':.,-_:;1 o st o 2



Q5

Q6

[-2]

(b] Calculate EOQ and total cost of inventory from the following

particulars: (T.5)
Annual Usage 20,000 units
Buying cost per order Rs. 10
Cost per unit Rs. 100
Cost of Carrying inventory 10% of cost

The standard output of a product has been fixed at 60 units per day of 8
hours. The normal wages per day i3 Rs. 150. Determine the total wages

payable under:- {15)

{ij Time Rate System

(i} Rowan plan

(iii} Halsey plan.

When output is 50, 80, 120 and 150 units. Calculate the labour cost per
unit in each case.

The following are some of the ways in which costs may be classified:- (15)

(&) Direct and indirect cost
(b) Variable and Fixed Cost
(c) Controllable and Uncontrollablé cost

What do you understand by ‘cost plus contracts’ and ‘escalation clause’
in contract costing? (15)

Describe the general feature of process costing. In what type of industries
is process costing generally adopted? Discuss with figures the method of
treatment of process loss in process costing system? (15)

ek ik kiR
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() Given standord deviation with respeet to data X is 3 and regression
CHUALIDNS are: 7
AX-5Y+33=0,
20X-9Y-107T =,

Find &) AM. of data X
o AM, of data Y
(c] Standard deviation of data ¥
[d) Corvelation cosilicient.

(b) From EnEﬂEE.ESFEEgiE
playing habit of sbadents: )

[Age {yearsp |15 |16 7 _[i5_ 119 |30 |
_hu.n_,E, 350 | 200 150 |130 [100 |80
EBegolar players: | 200 | 150 |90 (48 |30 |13

S —

{a] Define Regression. Why are there two regression lnea? Under what
conditions can there be only one regression linep (7
(b A consulting firm is preparing & study on consumer behavior, The
company esllected the following data in thousand rupees to determine
whether there is a relationship belween consumer income and

congumplion kevels: L1}
‘| Consumer No. 1 id 3 4 5 A |
Income(Re.] | 300 | 350 | 320 |400 | 265 [315 |
Consumption(Ra.} | 250 | 275 300 | 269 290 |

1275 | 370
Colculate correlation coefficient for the above dats. Write your
comments about the correlatdon coeflicient’ value

{a] Salve the (ollowing LPP by graphical eeethod: 7
Minimize Z = dx +y

m.:EnﬁEEnnEunHEq.ﬁ+uum.aufmwwm.H;uﬁ.nmﬂ.ﬁ
X, =i

(b Write the dual to the following LPP -
Maximize Z= 2bo# 15y + 18k +10x4 L]
Subject to the constraints: - Fay- Axz+ ey = d9xa & 60
Xyt iy txa = T
g = dra 4Ty 2 35
xi, X3, X3 =0 gned xy :unrestricted in sign

Maximize £ = 80+ (18]

Subject 1o constraints;  10x * das o8y < 2000
2xy #Sxgrdry £ 1009

Xy, X, X, E0

mﬁ? (L §
ﬂl....w

3]

Q8  Given below is a transportation table taken from the solution process for

Q9

a transpartation problem:

b

= =

Factories

e e A R e+ om

[5000)

1 2 3
10 8 7 12

B (4500)|  [1500)

w2

13 6 10

= - - T

i [7000) (s00] [1500]
I8 10 12 14

——

Answer the fellowing questions, giving brief answers: [45]
fi} 1= this solution fenaible?

(i} 1= this selution degenerate?

fiid] 1= this solution cptimal? If not, find the optimal solution.

(v} Does the problem have alternative optimal solution?,

A company has 4 machines to be assigned to 4 of the 5 workers available
for the purpose. The expected production from each machine operated by

each worker is given below: (15)
Expected Daily Production (in aniis)] Warkers

Machine A B 2. D E

I 40 46 48 G ]

I 48 32 36 '] 44

it 49 a5 1 34 45

W 30 A6 45 44 T

Buggest optimum assignment of workers to machines.

Le i e TR T
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Please write your Exam Roll No.) Exam Roll M. ..cdcccecarisarsins

END TERM EXAMINATION

SECOND SEMESTER [BBA] JuLy 2023 he-

Paper Code: BBA-106 Subject: Business Environment |

BBA(B&I}-106 ek

 Maximum Marks: 75

Note: A&a@t any five q;.e_stfnns.

Q1

Q2

Q3

24

Q3

Qg

Q7

Q8

Discuss the significance of the study of business environment in Indian
context. (15)

What are the objectives of WTO? Explain the difference between GATT

and WTO. (15)

aj What do you mean by FEMA? Explain the main provisions of this
act.

b) Briefly explain the contribution of various sectors in Indian GDP.

(9+6)

Explain the determination of National income through equality of saving
and investment. Can this equilibrium be at less than full employment

level? Discuss. (15)

Explain briefly classical theory of income and employment. How does this
theory show that a free market economy automatically adjusts to full

employment level? (15)

a) Critically examine the contribution of start-ups in Indian economy
b) Analyze the impact of “Swachh Bharat Abhiyan” on environment
(10+5)

“The obvious aim of the monetary policy of a country is to attain
equilibrium between saving and investment at the point of full
employment”. Discuss between saving and investment at the point of full

employment”. (15)

Discuss the ‘Technical Leadership". Why few countries are leader

techmically while the others are follower? (15)
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Plegse write your Exam Roll No.)

Paper Code: BBA-108

i

Exam Roll No. .....cccoccimmmmmnnnnn

END TERM EXAMINATION

SeconD SEMESTER [BBA] JuLy 2023

Subject: E-Commerce

BBA(B&I}110
(BATCH 2021 ONWARDS)

Time: 3 Hours

Maximum Harkm 75

Note: Attempt nnyﬂw r questions. .

Ql,

Q2

23

Q4

Qs

Attempl any three questions in brief. [15]
(a) Define the terms: Web site, Web page, Web server, URL and home
page.
(b) Compare Internet, Intranet & Extranet.
(c}  Write a short note on Indian readiness for e-commerce.
(d) Explain the structure tags of HTML
(e Explain in detail the E-transition challenges for Indian corporate.
(a) Discuss the cthical issues related to E-Commerce. Explain the
cryptography and digital signature.
(b) Explain different types of E-payment systems with their advantages
and disadvantages. [7, 8]
(a) Explain the following tags
1. <IMG=> 2. <PRE> 3. <S8TRONG> 4. <DIV=
(b} Write HTML code for the below table.
[8, 7]
(a) What are frames? Describe any two attributes of frame with example.
(b) Explain the use of Anchor tag with all possible attributes and give
example with bookmark. [8, 7]
(a) How does spoofing threaten a website’s operations?
(b) Design a Student registration form in HTML? Take your own

assumptions for form fields. [5, 10]

P.T.O.

5 (a3 -110
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Q6.

Q7

Q8

[-2-]

Whether E-Commerce and E-Business are same or different? Justify

(a)
YVOUT answer.
(b) Explain the various models of E-Commerce with the help of an
example. [7, 8]
(a) Explain the following attributes of form tag.
(i) Method (ii) Action
(b}  Write HTML code for creating a registration a user, user will provide
the information ‘like: name, DOB, gender, password, confirm
password and hobbies, [S, 10]
Differentiate between the following: [15]

(a]
(b)
(e)

E-Commerce and Mobile Commerce
Public Key and Private Key
Static Website and Dynamic Website

Ipealzad)—he

B%p, Vet
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END TERM EXAMINATION

THIRD SEMESTER [BBA] JANUARY-FEBRUARY 2023

Paper Code: BBA (B&l) 203 Subject:.: Marketing Management |

BBA 203 (Upto 2020 Batch)

Time: 3 Hours

Maximum Marks: 75

| Note: Attempt five questions in all including Q.Nﬂl which is compulsory. |

Q1.

Q3.

Q4.

Q5.

Q6.

Q7.

Attempt any five of the following:- (5x3=15)
(a) Distinguish between Product Mix and promotion mix.

(b} Functions performed by channel intermediaries.

(c) What are the different product levels? Give examples.

(d} Just in time management system.

(e) What is the difference between targetng and positioning, give
examples?

() Explain Marketing Myopia with an example.

(g] Push vs Pull strategy.

(h) Explain any two Pricing strategies.

Explain the concept of product life cycle along with the strategies
company adopts at each stage with examples. (15)

Write short notes (all compulsory) (3x5=15)
{a} Personal selling process
(b} Importance of distribution channels

|c) Positioning strategies

{a) What is segmentation? (5)
(b) What segmentation variables can be adopted for the following
products. Justify. (10)
[i] Soaps
(i1} Milk supplements
(1ii)Shoes
(a) Differentiate between Sales promotion and personal selling? (5)

(b) Explain the process of personal selling taking an example of
insurance products. (10)

(a) Differentiate between Supply Chain management and Logistic
management. (3)
[b) Explain the activities undertaken under Logistic Management. (10)

Explain the concept of Vertical and Horizontal Marketing systems along
with types and examples of each. (15)
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END TERM EXAMINATION

e THIRD SEMESTER [BBA] FEBRUARY 2023
Paper Code: BBA205 Subject: Human Resource Management

Time: 3 Hours Maximum 1 Hr.r.rks 5
| Note: Attempt five questions in all including Q.No.1 which is compulsory. |

Q1  Write S8hort note on three: (3x5=15)
a) Human Capital
b) Induction Process
c) Career planning and career development
d) Evolution of Human Resource Management

Q2 Discuss the importance of Human Resource Management in the present
day competitive environment. Distinguish between Human Resource

Management and Personnel Management. (15)

Q3 What do you understand by employee empowerment? Describe various
approaches to empowerment in brief. Discuss the process of Job

Analysis. (15)

04 Human Resource Planning involves the movement of an organization,
from its current manpower needs to the desired manpower needs.
Discuss the various steps in Human Resource Planning. {15)

Q5 Discuss the need for scientific sclection process. Briefly explain different
tests used in the selection of employees. (15)

06 Indicate the steps needed in recruitment of the employee. What different
precautions HR manager has to take at the time of recruitment? (15)

Q7 What are the limitations of conventional performance appraisal methods?
Explain? How does 360 degree appraisal technique overcome these
limitations? Examine. (15)

Q8 Critically examines the social security benefits available to industrial
workers in one county. What steps will you suggest to improve them?(15)
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END TERM EXAMINATION

THIRD SEMESTER [BBA] FEBRUARY 2023

Paper Code: BBA207 Subject: Management Accounting |
BBA(B&I)203 (Batch 2021 onwards) |
Time: 3 Hours Maximum Marks: 75 :

_ Note: Attempt five questions in all including Q.No.1 which is compulsory. |

s e s i

Q1

Q2

Q3

4

Answer any five from the following: (5x5=25)
a) Difference between management accounting and financial
accounting.

b} Zero base budgeting.

c) Margin of Safety

d] Relevant Cost and Sunk Cost

e) Make or Buy decision

f) Du point Analysis

gl What is the main use of spreadsheet?
h) Cash Flow Statement

Discuss the computation and significance of the following financial ratio:
1) Current ratio (i1) Quick Ratio (i) Interest Coverage ratio (iv)] Earning Per
Share [v] Stock turnover ratio (12.5)

Ranbaxy Pvt Ltd is expected to have Rs. 25,000 in its bank account on
1.4.2022. Prcpare a cash budget for April, May, and June 2022 from the

following estimates. e e &y
: Administrative = Selling
| Month . Bales Purchase Balary Expenses Exponses
 February | 50,000 30,000 000 G,000 3,000
_ March 56,000 | 32,000 6,500 o500 3,000
| April 60,000 | 35,000 7,000 10,000 3,500
May B0, 000 | 40,000 9000 | 11,500 __l_jtﬁm_____:
June Q0,000 40,000 | 9.500 12,500 1 4500 |

Other information:

a) 20% sales on cash. Balance on credit and amount to be collected in
the next month.

b) Suppliers are paid second month following the purchases.

¢} Workers salary paid in the same month.

d) Administrative and-selling expenses are paid in the next month.

e] Dividend of Rs 10,000 and Bonus to workers of Rs 15,000 are to be
paid in May.

fi Income tax of Rs 25,000 to be paid in June.

Prakash Steel Co. has prepared the following budget estimates for the

year 2014-15: (5+7.5=12.5)
Sales units: 15,000
Fixed Expenses  Rs. 34,000
Sales value Rs.1,50,000

Variable Costs Rs. 6 per unit
P.T.O



Q5

Q6

o

8

You are required to:

[-2-]

a) Find the P/V ratio, Break-even Point and Margin of Safety.
b} Caleulate the revised P/V Ratio, Break even point and Margin of
safety in each of the following cases:
i] Decrease of 10% in selling price
ii) Increase of 10% variable costs.

iii} Increase of sales volume by 2000 units

iv] Increase of Rs 6,000 in fixed costs.

How marginal costing is different from absorption costing and direct
costing? Discuss advantage of marginal costing.

(12.5)

a) From the following data, calculate (a) Material Cost Variance (b)
Material Price Variance (cjMaterial Usage Variance (d) Material Mix

Variance (5)
Name of material | Standard Actual i)
Kg | Rate Kg rate |
X 8000 1.05 7500 | 120 |

Y 3000 2.15 3300 2.30

Z 2000 3.30 2400 3.50

b) Explain in detail comparative financial statemerits and trend
percentage as tools of financial analysis.

Super Fashion Pvt. Limited

(7.5)

submits the following information of cost in

respect of its two products: 2 = (12.5)
Particulars Waxy (per unit) (Rs. ] | Glaxy [per unit) (Rs]
Direct Material 20 30
Direct Wages 20 15
Variable overhead 15 25
Fixed overhead 15,000 15,000

| Selling price 75 125

You are required to recommend the management the profitable sale mix
from the below mentioned alternatives:
a) 600 units of Waxy only.
b) 800 units of Glaxy only.

¢] 100 units of Waxy and 300 units of Glaxy.
d) 300 units of Waxy and 200 units of Glaxy.

Define budgetary control. State its objectives. Explain the process by
which various budgets are prepared. Distinguish between fixed budget
and flexible budget. (12.5)
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END TERM EXAMINATION

 Twirp SEMESTER [BBA] JANUARY-FEBRUARY 2023 il
Paper Code: BBA 211]33-209 Subject: Business Research Methodology
Time: 3 Hours 3 Maximum Marks: 75
Note: Attempt five questions in all including Q.No. 1 which is
compulsory. Select one question from each unit. All guestions carry
equal marks. |

SECTION A
Q1. Answer the following:-

(a) Distinguish between Reliability and Validity.

(b) What are mediating variables in research? How these are different
from moderating variables?

(c) What do you understand by research problem formulation?

(d) How is the sample size computed for primary data calculation in
business rescarch?

(e} What is the meaning of citation? Mention the names of any 3 citation

styles.
SECTION B

UNIT-I
(2. What are the tenets of good business research? Also give a taxonomy of
various types of business research. Which one is more appropriate in
context of business and why?

Q3. What is a research design? Why is it referred to as the heart and soul of
research?
UNIT-1I
Q4. Explain different methods of data collection used in business research.
Also distinguish between qualitative and quantitative data.

Q5. What is a longitudinal study? When is it used? Give examples to
elucidate.
UNIT-II1
(6. NRF tyres manufacturing company claims that the average life of its car
tyres is 70000 kms. A sample of 10 customers has provided following
details:
Customer No. Life of Car Tyres (in Kms.)
65000
74000
82000 i
78000 !
54000
= 60000
70000
77000
i 74000
10 ' 61000
Ascertain whether the claim made by the company is correct using
appropriate method.

e —
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Q7.

Q8.
Q9.

[-2]

What is the importance of a questionnaire in data collection? Discuss the
guidelines used to formulate an effective questionnaire.

UNIT-IV
What are the essentials of a good research report? Why is it prepared?

What is the importance of ethics in research? What are the various
issues of research in context of business research? Give examples to

prove your point,
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(Please write your Exam Roll No.} Exam Roll No. e

|Paper Code: BBA-217

E
e

END TERM EXAMINATION

THIRD SEMESTER [BBA] FEBRUARY-2023 i
Environmental Studies

J

Time: 3 Hours - = Maximum Marks: 75

| Note: Attempt ﬁw qu_u&tinns in aH-Eﬁn!gg_I_i_gg Q.Nol which is compulsory.

Q1

Q2
Q3

04

Q5

Q6
Q7
Q8

Answer any five of the following:- (5x5=25)
(a) Food Chain and food web.

(b] Dams-benefits and problems

(c) Ecological Pyramids

{d) COP 27

(e} Carbon foot printing

() In-situ and Ex-situ conservation

g) Sustainable Development

{h) Single use plastic ban India

Discuss in detail about Kyoto Protocol and Montreal protocol. (12.5)

Explain the concept of Environmental Impact Assessment in detail. Also
critically discuss about the India’s EIA Norms. (12.5)

Explain the types of Ecosystem with advantages and disadvantages of
cach. (12.5)

Discuss about climate change & global warming in context of recent
global issues. (12.5)

Explain the causes of air pollution with its health impacts. (12.5)
Discuss about the non-renewable sources of energy and its future. (12.5)
Write short notes on the following:- (12.5)
{a) The Chemical weapons convention

(b} Thermal pollution-causes, effects and control.
{c} Role of Environmental Ethics
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{Please write your Exam Roll No.} Exam Roll Ne. ........

END TERM EXAMINATION

THiRD SEMESTER [BBA| FEBRUARY-2023
|Pup¢r Code: BBA-217 _ Environmental Emdles]

Time: 3 Hm.:r: P Haximum Marks: ?‘5
Note: Attempt five questions in all {nn!udlng Q.Nol which is nampuhury

Q1  Answer any five of the following:- (Sx5=25)
{a) Food Chain and food web.
(b} Dams-benefits and problems
{¢] Ecological Pyramids
(d) COP 27
(e} Carbon foot printing
() In-situ and Ex-situ conservation
[g] Sustainable Development
(h} Single use plastic ban India

Q2 Discuss in detail about Kyoto Protocol and Montreal protocol, (12.5)

03 Explain the concept of Environmental Impact Assessment in detail. Also
critically discuss about the India’s EIA Norms. (12.5)

Q4 Explain the types of Ecosystem with advantages and disadvantages of
cach, (12.5)

Q5 Discuss about climate change & global warming in context of recent
global issues. (12.5)

Q6 Explain the causes of air pollution with its health impacts. (12.5)

07 Discuss about the non-renewable sources of energy and its future. (12.5)

08  Write short notes on the following:- (12.5)
{a) The Chemical weapons convention
(b) Thermal pollution-causes, effects and control.
[c) Role of Environmental Ethics
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{Please write your Exam Roll No.]

END TERM EXAMINATION

THIRD SEMESTER [BCA| JANUARY-FEBRUARY 2023

Paper Code: BCA 221 Subject: Principles of Management &

G:Enni:m:iml Behaviour

Time: 3 Hours

Maximum Marks: 75

Note: Attempt five questions in all including Q.No. 1 which is
compulsory. Select one gquestion from each unit. pc |

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Write short notes of the following (Any Five): (5x5=25)

{a) Define self-learning.

{b) Discuss different roles and function of a Manager.
{c) Differentiate between authority and responsibility.
(d) Stereotyping.

(e} Describe theory of cognitive dissonance.

(f) Hallo effect.

UNIT-1

{a) "Management is the art of getting things done”. Do you agree? Give
reasons. (6)
(6.5)

(b) Explain the Managerial Levels in an organization.

fa) How pertinent today is Taylor's assumption that management and
labour had a common cause. Explain your view with justification.(7.5)

(bjDifferentiate between Effectiveness Vs Efficiency. (5)
UNIT-II

{a) ‘Decision making is the essence of managing.’ Comment and explain

the features of a rational decision. (7)

(b) “Planning is mere ritual in the fast-changing environment.” How far
do you agree with this statement? Why? (5.5)

{a) “Planning is nothing without control and control is aimless without
planning”. Explain the statement with examples. (6.5)
(b) Differentiate between Long term planning and short term

planning. (6)

UNIT-III
{a) “Organizational Behavior represents interactions among individuals,

groups and the organization. Elucidate. (6)

(b) A large unit manufacturing goods which has been known for its HR
policies and fringe benefits is facing the problem of low productivity
and high absenteeism. How should the management improve the
organizational climate? (6.5)

(a) “Motivation is the core of management®. What are the suggestion
would you offer to the management to motivate its staff? (5.5)
P.T.O.
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Q8.

Q9.

(2]

{b) Distinction between Maslow and Herzberg theories of motivation.
What is the role of money/monetary benefits in motivating the

managers? (7

UNIT-IV
(a) Define Organizational Behavior and explain the need of understanding

human behavior in organizations. (&)
(b} Explain the concept of personality. Discuss personality traits that

affect the human behavior. (6.5)

(a) If organizational change is to be real change, it has to happen at the
level of culture.' Elaborate this statement. (6.5)

(b) “Perception is a process of input- throughput- output Analysis”.
Comment and examples of perceptual sets from work settings. (6)
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END TERM EXAMINATION

FOURTH SEMESTER [BBA| Jowy2023 0000 1
. Subject: Income Tax Law and Practice |

Paper Code: BEA-208 Practice
Time: 3 Hours o Maximum Marks: 75

| Note: Attempt any five questions. All questions carry equal marke .|

Q1. hat is gross total income and describe various major heads under GTI?
Explain the guidelines under section 80 of the Income tax act.

Q?/Crim:aﬂy describe the term partnership and partnership deed. Explain
the features of partnership firm.

Q3. (a) Explain the rule to compute depreciation allowance in case of Income

from Business and Profession.
(b) Discuss the role of different tax authorities and their functions in

detail.

9)1./[&} What are the provisions of Income Tax Act regarding commutation of
pension,
} What are fully taxable and fully exempted allowances ? Explain with

examples.

Q%F.Frite short note on any three:

-{a) Residential status
(b} Gross total income
(c) Income from house property
(d) Lottery income

Q6. (a) Lucy purchased 900 shares of XYZ Co. on 26 October 2018 for
Rs.98.94 per share and then sold all the shares on 25 October 2019 for
Rs.119.04 per share, Calculate the capital gain earned by her in selling
these 500 shares,

(b) Explain the term capital gain and also differentiate between short term
and long term capital gain,

Q7 (a) An individual taxpayer aged 50 years carmns Rs. 3,00,000 in
agricultural income. Her non-agricultural income is worth Rs.
5,00,000. Calculate her agriculture income tax for the Assessment
year 2022-2023.

[?. Difference between agricultural and non agricultural income,

()8, Expi:ai"n the various deductions under 80C to 80 U available for
Individual and HUF. Also state which deductions are considered under

New Tax Regime.
Latd s 3 2T
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{Please write your Exam Roll No, | Exam Roll No. ...........

®

END TERM EXAMINATION

FIFTH SEMESTER [BBA] JANUARY-FEBRUARY 2023

|Paper Code: BBA301/BBAB&1)-301 Subject: Income Tax Law & Practice |

Time: 3 Hours _Maximum Marks: 75

| | Note: Amﬂi@e questions in all inc luding Q.No. 1 which is compu Ism-y_|

01

02

Q3

Answer any five from the following: (25)
a) Differentiate between Tax planning & Tax avoidance
b) State any 5 income exempted from Tax.

c) Income of previous year is always taxable in the immediately
following assessment year. Comment
d) Perquisite in respect of rent free accommodation

) After the death of X in the year 2020-21, Mrs, X receives a pension
of Rs. 10,000 per month from her husband's  employer. State the
head and amount of income taxable in her hands for the
assessment year 2022-23.

f) Short note on expenses of scientific research.

g State the kinds of Provident Fund and explain?

h) Define annual value, How is it determined?

Describe in how many categories the residential status of an assessee is
divided. Also explain the conditions of those categories. (12.5)

The following particulars relate to the income of Srinivasan for the
assessment year 2022-23: (12.5)
He is employed in a cotton textile mill at Delhi on a monthly salary of
Rs. 25000. He is also entitled tg following allowances and perquisites:

aj Dearness Allowance @ Rs. 6000 p.m.

b Bonus @ 2 months basic salary.

c| Entertainment allowance @ Rs. 2000 pm,

d) House Rent Allowance @ Rs 7000 pm.

e) Actual rent paid @ Rs 4000 pm

f) Transport allowance @ Rs 200 pm

g) Children education allowance for 3 children @ 200 per month each

h) He is also provided with gas, eclectricity and water facility and
employer  spent Rs 15000 on these facilities,

i Gift of smart watch worth Rs 14000 was received from employer,

il Car with engine capacity 1.7 liter is given for both office and
personal use. All the maintenance ¢xpenses are met by
employer.

k) He and his employer both contribute 10% of his salary to his
recognized provident fund and interest credited to this fund
@ 12% amounted to Rs 30000 during the previous year.

P.T.O.
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Q5

Q6

Q7

Q8

[-2-]

1) He donated Rs 18000 to National Defence fund.
Compute his Taxable income and Tax liability for the Assessment

year 2022-23,

a) What are the provisions applicable for *house property” when
unrealized rent is realized subsequently?
b) Is agricultural income taxable in Indig>
(12.5)
What do you mean by capital asset? Explain the term cost of acquisition
and computation of indexed cost of acquisition. Also explain the rules
of exeraption under section 54 and 54 D. (12.5)

Compute the advance Tax payable by Ronit from the following income for
the assessment year 2022-23 (12.5)
a) Gross Salary = Rs. 600000 PA
b) Rent from house property per annum = Rs150000
c) Interest on Government Securities = Rs. 8000pa
d) Interest on saving Bank Deposits = Rs.3000pa
e) Agricultural Income = Rs 290000pa
f) Contribution towards PPF = Rs 25000

What is Block of Asset? Elaborate the specific deductions allowed to a
businessman assessee for computing his business income, (12.5)

Explain any three of the following: (12.5)
a) Provisions related to clubbing of income of spouse and minor child.
b) Provisions related to set off and carry forward of business losses,

c) Who is eligible to file ITR 17

d) TDS on winning from Iottery and crossword puzzles,

LR S 35 1 8T
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END TERM EXAMINATION

_FirTH SEMESTER [BBA] JANUARY-FEBRUARY 2023

L'P_nper Code: BBA 303 Subject:-: Production & Operations Hanags__m_g_ni_

Time: 3 Hours

Maximum Marks: 75

rr_fgte_r_i!thpt five questions in all inniudinj_q.ﬁa‘l which is compulsory.

21.

Q2.

Q3.

Q4.

Q25

Attempt any five from the following: (5x5=25)

(a) Explain Transformation model.

(b) Distinguish between job-shop production and batch-shop production.

(c) “EOQ impacts cash flow planning”. Discuss.

(d) Discuss about TQM and costs of quality.

(¢) What roles are played by “black belt” and “green belt” members in six
sigma projects?

() What role of IT in production and operation management?

(g) Differentiate between CAD and CAM.

(h) Differentiate between Q inventory system and P inventory system.

Define production planning and contrel. Also, explain different elements
of production planning and control, (12.5)

What is product design? What approaches should considered at the time
of designing a product? Elucidate. {12.5)

(a) Location decision is strategic decision and can have significant impact
on success or failure of business. Discuss.

(b) What do you mean by Centre of gravity method and why it is useful?
By using the following information of four markets provide a best

plant location; (12.5)
(100, 50)
A (20, TOY Sale 200 undts
Sale (100 units)
« B{7T0, 50}
Sale 20 units

D (440, 0%
Sale 1000 units

What means of plant layout and how many different types of layout may
be designed? Also, suggest relevant layout for hospital & dairy industries
and why? (12.5)

(a) An organization has annual requirement of material i.e. 2,00,000
units. The ordering cost for one order is Rs 2000. The per unit
maintenance cost is 10% of unit price and unit price is Rs 1000.
Calculate EOQ, total storage cost, numbers of orders and total
ordering cost by using above given information.

(b) What different methods of purchasing are used at the time of
purchasing materials? (12.5)

P.T.O.
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Q7. (a) What means of supply chain management and describe ts process?
(12.5)

(b} Discuss about ABC inventory control technique, Also, categorized the
following stock items in A, B and C categories:

Item Annual Usage in units Cost per unit |
U 1,20,000 350 |
v 20,000 200
T 40,000 90
Q 10,000 75 ¥
L 25,000 300
W 1500 350
K 1,00,000 a0
M 80,000 S00
J | 8,000 50
X 4.000 100
P 6,500 60

Q8. What means of plant maintenance? What different types of maintenance
are carried out in organization and why? {12.5)

LLh e b gy B ]
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END TERM EXAMINATION

FirTH SEMESTER [BBA] FEBRUARY 2023
|Paper Code: BBA-305 Subject: Services Marketing |
Time: 3 Hours Maximum Marks: 75
| Note: Attempt any five question. All questions carry equal marks. |
Q1. Write Notes on:

(a) Explain the nature of services.
{b) What are the unique characteristics of services?
{¢) Give an example of expanded marketing mix.
{d) What is market segmentation?
(e} Outline the need of new service development.
Q2. (a) Discuss the evolution and growth of service sector in India
(b) Discuss the service marketing opportunities in hospitality and
tourism sector,
Q3. (a) Explain service market segmentation, targeting and positioning with a
suitable example.
(b) (i) Explain GAP model of service quality.
(ii) Discuss the need for measuring service quality.
Q4. (a)Why most of the corporate prefer integrated service marketing
communication? Discuss.
(b} How does the corporate are designing service delivery system? Explain
with suitable case.
5. (a) Discuss the major issues and challenges of service marketing in India.
(b) Explain various methods for Pricing of services
Q6. (a) Discuss how the service strategies vary sector- wise? Why there is
variation?
(b) Explain the service strategies for financial and entertainment sector
Q7. Critically evaluate SERVQUAL? Explain in detail with suitable example.

P.T.O.
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Write Notes on:

{a) Explain the need for positioning of services.

(b) What is services channel?

(c) Write briefly about service strategies for health.
(d) Explain the need of logistics services.

B e ke iR
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END TERM EXAMINATION

__FIFTH SEMESTER [BBA] FEBRUARY 2023

.Pﬂpﬂr Code: BBA307 Subject: Entrepreneurship mre!upmeﬁt !

‘Time: 3 Hours 3 Maximum Marks: 75

| Note: Attempt any five questions. All questions carry equal marks. _

Q1

2

23

5

6

o7

What do you mean by Entrepreneurship? What are the traits of
successiul entreprencurs?

How do entrepreneurs foster innovation within their ventures? Write few
examples of successful innovation in entrepreneurship?

What is different type of financing options available to entreprencurship?
How do entrepreneurs decide on the most appropriate financing option
for their venture?

What do we mean by feasibility study? Explain in detail process of
conducting feasibility study?

Write short notes on:
a) Discuss important environmental barriers to entrepreneurship?
b} Similarities and Differentiation between Entreprencur and

Manager

Who is entrepreneur? Explain in detail about role of entrepreneur in
economic development?

Explain SSI? Write the Steps for Starting Small-Scale Industries.

Write notes on:
a) What is Business Plan? How do you prepare Business Plan?

Explain advantages of preparing Business Plan,
b) What are some potential consequences of not addressing legal and
cthical 1ssues in entrepreneurship?
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END TERM EXAMINATION

FiFTH SEMESTER [BBA] FEBRUARY 2023
'Paper Code: BBA-309 Subject: Goods & Services Tax (GST]

Time: 3 Hours ~ Maximum Marks: 75
Note: Attempt five questions in all including Q. No.1 which is

compulsory. ¥

Q1 Answer any five from the following:- (5x5=25)
(a) Procedure for registration under GST
(b) Role of GST practitioner
(c) Tax Audit
(d) Appeals and Revisions under GST
(¢) Types of returns under GST
ifjy Composite Supply and Mixed Supply
(g) Tax Invoice
{h) Job Work

Q2 What is the meaning of Goods & Services Tax? Why it was introduced in
India? Explain the features of GST. (12.5)

Q3 How would you find out the place of supply of services where the location
of both supplier and recipient is in India? (12.5)

Q4 What are the provisions relating to tax payable on reverse charge basis

under sec 9(3|? Which are the categories of supply of services on which
recipient of service has to pay tax on reverse charge basis? {12.5)

Q5 What do you understand by advance ruling? State the procedure for
obtaining advance ruling. (12.5)

Q6 What are the various activities which would be considered to be offences
u/s 122(1) attracting penalties under GST Act. (12.5)

Q7 Explain the conditions in GST under which inspections, search and
seizure can be initiated by the tax assessment officer. In which situations
even arrest order of the defaulter can be issued. (12.5)

Q8 When can a person claim refund of GST? How is a refund claimed? Can a
refund be withheld? (12.5)
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